TR R (FRiERTE)

o

G2 H -

138,134,13*9 6*4,6,6*7 106.102.10710
1376 67

3643794374378 1374+1310013701374 10 'e10%107!
378432 1376134

13*9.13*4.13*10 211.2*10.2*4.2*9 15*8.159.15*9

2—4.210 15—3

16 7¢16°16% 579574511 52e53e57 24511
16 57 5852

472.411 .49 2*5,2*9,24,2*2 38,3*7,3*9
47 74493 32
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TR R (FRiERTE)

4

138134137
1376

13°

376.379 .37 .378
378432
3*10

1372137413710
13—23

16 7160162
16

137%e131041370137%
13764134

211.2f10.2f4.279
2—4.210
2*18

2732790402

2423
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H #A:

o
=

10%410%+10710
1072

10 te10%107!
102

15 8e15%157?
1573

157

52,5345 2,51
58452

520

3863774379
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